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Corporate Accounting
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Note : Answer all questions. All
marks.
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A Limited Company issued 10000 Equity Shares

of ¥ 10 each on which the money was payable

as follows :

¥ 2 per share on application
¥ 2 per share on allotment
7 3 per share on first call

Z 3 per share on final call
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pThe company received applications for 9000
shares. All the applications were accepted. All
money due as stated above were received with
the exception of first call on 200 skarec. These
shares were forfeited before the final call was
due. After the final call, forfeiied shases were

reissued at ¥ 9 per share fully paid. Show the

necessary journal entries.
HYql / OR

RO i Uiy wife ) mrTw ¥ afiads
T 9 1 g9 © ? U9 wiads 5 fafiai =
U i |

Define Debenture. What is meant by

conversion of debentures ? Describe the

method of such a conversion.
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Prepare a specimen of Companies statement |
of Profit and Loss in the format as per
Schedule III of the Companies Act, 2013.
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Explain in detail via suitable example of

Liquidator’s final statement of accounts.
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¥
2010 20,200
2011 24,800
2012 20,000
2013 30,000
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Calculate goodwill of a firm on the basis of

three years purchase of the weighted average
profits of the last four years. The profits ot
last four years were as follows :
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Year Profits Y
L4

2010 20,200

2011 24,800

2012 20,000

2013 30,000

The weights assigned to each year are:

2010 -1, 2011 -2, 2012 -3 and 2013 - B
You are supplied the following information :

(@) On 1st September, 2012 a major plant
repair was under taken for ¥ 6,000, which

was charged to revenue. The said sum 1S
to be capitilised for goodwill calculation
subject to adjustment of depreciation of
10% p.a. on reducing balance method.

(b) The Closing Stock for the year 2011 was
over valued by ¥ 2,400.

(¢) To cover management cost on annual

charge of ¥ 4,800 should be made for the

purpose of goodwill valuation.
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The following particulars are available of iy
Mukesh Ltd :

(@) Capital ¥ 45,000, 6% Preference Shares
of ¥ 10 each fully paid up. 45000 Equity

Shares of # 10 each fully paid up.
(b) External liabilities ¥ 75,000.

(¢) Reserve and Surplus ¥ 35,000.

(d) Average profits after taxation, earned

every year by the company ¥ 85,050.

(¢) The normal profit earned on the market
value of Equity Shares, fully paid on the
same type of company is 9%.

(f) Company transfer every year ¥ 10,000 to

réscrve,

Calculate the fair value of Equity Shares
assuming that out of total assets, assets worth

¥ 3,500 are fictious.

—
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What do you understand by Amalgamation ?
Describe the main features of AS-14

accounting for amalgamation.
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On the reconstruction of a company, the
following terms Were agreed upon: The
shareholders to receive in lieu of their present

holdings (viz. 50000 shares of ¥ 10 each) the

following :

(a) Fully paid up Equity Shares equal to
2/5th of their holdings.

(b) 5% Pref. Shares fully paid to extent of
1/5th of the above new Equity Shares.

(c) ¥ 60,000, 6% second debentures.

—
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issue of ¥ 50,000, 5% first debentures was

made and allotted, payment for the same have
been received in cash. The Goodwill, which

stood at ¥ 3,00,000 was written down to
¥ 1,50,000. The Plant and Machinery which
stood at ¥ 1,00,000 was written down to
¥ 75,000. The freehold and leasehold premises
which stood at ¥ 1.50.000 were written down

to ¥ 1,25,000. Make the necessary journal

entries in the books of the company on the
basis of above transactions.
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Balance Sheet of both the companies as at
31st March, 2016 were as follows :

Particulars R Ltd. S Ltd.
¥ ¥
- (I) Equity and Liabilities :
:', Shareholders Fund :
| Share Capital 40,00,000 | 10,00,000
Reserve and Surplus :
General reserve 15,00,000| 4,00,000
Statement of Profit and
\ Loss — Surplus 23,00,000| 6,00,000
Current Liabilities :
Trade Payables 12,00,000| 5,00,000
90,00,000 | 25,00,000
(II) Assets :
Sundry Assets 70,00,000 | 25,00,000
Investment :
Shares in S. Ltd. 20,00,000 —
90,00,000 | 25,00,000

~ consolidated Balance Sheet.

9491/ OR

Calculate minority interest and prepare a
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Give the specimen of Bank’s, Profit and Loss
Account, Explain the various Schedules which
were prepared in Bank’s Final Account.
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